Algebra Final Review – Systems Word Problems 

1. The units digit of a two digit number is twice the tens digit.  If the digits of the number were reversed, the resulting number would be six less than twice the original number.  Find the original number.

2. Oscar invests $4,000, part of it at 10% annual interest and the rest at 12% annual interest.  If he earned $460 in interest at the end of one year, how much did Oscar invest at each rate?

3. Mark invests $14,000, part at 4% annual interest and the rest at 8% annual interest.  If the interest earned from the 8% rate exceeds the interest earned from the 4% rate by $400, how much was invested at each rate?

4. Rose took a half hour to row 3 km with the current.  When she returned, she took 90 minutes.  Find her rowing rate and the speed of the current. 

5. How many liters of water must be added to 20 L of a solution that is 45% alcohol to obtain a solution that is 30% alcohol?

6. How many pounds of nuts costing $2.50 per pound should be mixed with 2 pounds of nuts costing $4.50 per pound to obtain a mixture costing $3.00 per pound?

7. At the same time Henry leaves Los Angeles for San Francisco, Christy leaves San Francisco for Los Angeles.  The distance between the two cities is 380 miles. Christy’s average speed is 9 miles per hour faster tan Henry’s speed.  How fast is Henry driving if they pass each other in 4 hours?

8. Farmer Brown drives to town at 36 mph and returns at 48 mph.  If his total driving time is 3.5 hours, how far is his home from town?
9. Twenty-five years ago, Hailey was five more than one-third as old as Jason was.  Today, Jason is twenty-six less tan two times the age of Hailey.  How old is Jason?

10. Kayla would be one-half as old as Nathan if Kayla were four years older.  Nathan is eight less tan three times as old as Kayla.  How old is Nathan?
